(FitR= 4)

ik ¥

Lo
for £ 4
[BEHEX%]
(SHTEEAH) (58 -]
(Bifsr : [
e K |AE iR E (FELDHRR)
£88 | %@ RS - ik RAE |z Bk
&S - (%) BEGER | oHR sug | mmrew |FREREE| gupae [ wuwan | semn | se AR
IRI. 6.25| 1 |BISEEHEBBRE AR i 28,160 501 14,080 0 ] 0 0 0 0 ¢ 0] 14,080
|R1. 6.5 2 |wEEES (EEFM) (AN 4,037( 100| 4,037 0 0 0 0 o| 4,087 0 0 q
|=HEmBaEi ) — R4, BizBoxt)—X ]
|R1.6.25 3 oy ﬁﬁ;&u Zz3 64 36,7171 50 18,358 0 0 0 0 0 0 0] 18,358 0|
iRLG 26| 4 |FmEEESEH (GEWEE) (6 R4 4,100| 100 4,100 0 0 0 0 0 4,100 0 0 0|
|R1.6 2601 b [|EBFT ORI (7AHD) 150,000 50§ 75,000 0 0 0 0 0 0] 75,000 0 'OI
IRT. 6.26] 6 (HIEr WIHEE(5/28~6/25) 14,103 50} 7,051 0 0- ¢ 0 0 0 7,051 0 OI
Ri..2s| 7 |77 AF>2 EBR BEER) 6/ 10.940| 50| 5,470 0 0 0 0 0 0 0| 5,470 0
R1.6.26] 8 |EEBRFILNTV—ZRB/1~5/3D 42,519 50| 21,259 0 0 0 0 0 0| 21,259 0 0
l R1.6.28| 9 |4RABSSEY (BALFHETM) (6 A4 4, 9001 100 4,900 (] 0 0 0 0 4,900 0 0 0
R1.6.28| 10 |E#sEEnERIB Al# 150, 0001 50| 75,000 0 0 0 0 0 0 0 0| 75,000
SAY RS — (BEEEM R
H30,12.26]. 11 1.6/11~6/3084 3,600] 100 3,600 0 0 0 0 ¢ 3, 600 0 0 0
H31.2.21 12 |BERGRES 2% ($HTEARS) 5,000 100 5, 000 0 5,000 0 0 0 0 0 0 0 _
0 0 0 0 0 0 0 0 0 0
0 0 0 0 ] 0 0 ¢ 0 0
0 0 0 0 0 0 0 0 0 0
0 0 0 0 o| 0 0 0 0 ol
0 0 0 0 0 0 ¢ 0 0 OI
(3133 0] 454,076 2317, 855 0 9,000 0 0] 16,6371 103, 310] 23.828] 89,080
REt 0| 454,076 237, 855 0 5, 000 0 0| 16,637| 103,310| 23,8281 8%, 080




(HffHta)

= ® K& =
_ CLEER)
(HRTETAD) (E% #H—H]
| (B4 : [9)
AR BIE fERWE (ELDAR)
ghg |wnm RUERLHR - wAE | g :
ol (%) mrwak | wmn | ame | nenew (FPEESE) guenw | ammax | swar | osmx | aew
RIL6.30| 1 |Hvuok 6,630 25| 1,657] 1.657 0 0 0 0 0 0 0 q
RILZ.| 2 |#mine(s A 8,512 25| 2,128 0 0 0 0 0 0 o| 2.128 ol
RL7.2| 3 ARSI ARX U sy MR 5.054| 50| 2527 0 0 0 0 0 0 0| 2,527 'ol
RI.7.8| 4 |saithys2—HG6/1~5/30) 10,162 50} 5,081 0 0 0 0 0 0 o| 5 081 oI
RI.7.8| 5 [foariyy BSSiEta T y—Exk) 2,700| 50f 1,350 -0 0 0 0 0 0 of 1,350 of
RILZIG| 6 |Avuss 6.260| 25 1,565 1.565] 0 0 0 0 0 0 0 0
RILZIG| 7 |&mMSr—ii BSR4 ~6H) 8,400 100| 8,400 0 0 0 0 o| 8 400 o 0 0
RI.7.16| 8 | &F - BARE) HEH RI.6~R25) . 5, 100| 100] 5100 0 0 o| 0 o| 5100 0 o of
RI.LT16[ 9 | FY.5%) BEak% RI. 6~R2.5) 3,700] 100| 3,700 0 0 0 of of 3700 0 0 0
RILT.19| - |2R&YAR 6A% 237, 855 0 0 0 0 0 0 0 0 o 0
RI.7.24| 10 |8 (£1) (8 A 160,000 50| 75,000 0 0 0 0 0 0| 75,000 0 0
Ri.7.24] 11 [EXHHAH (REEEL 25400 32.700| 100| 32,700 0 0 0 0 0| 32,700 0 0 0
Ri.7.24) 12 [MIZ2AF 22 GEm BER) /1 0.815| 50| 4,907 0 0 0 0 0 0 0| 4,907 0
NTTaSa=h—ia XA wi—3y Mg !
R REY g rapdtia i e dr 10.346| 50| 5,173 0 0 0 0 0 0 o| 51713 0
ri.7.24| 14 |[wmmroLATy -2 6/1~6/50 41,148 5o} 20,574 0 0 0 0 0 ol 20.574 0 0
RI.7.24| 15 |@EBERES 2B R1.7~R1.12) 30,000{ 100} 30,000 o 30,000 0 0 0 0 0 o
EBHEFS) —AH, BizBox!)—X

R1.7.25| 16 |SPamiy— oM. B 36,717| 50| 18,358 0 0 0 0 0 0 o 18,358 q
RI.7.25| 17 [GBAmss (E&FM (7 A5 4,037| 100| 4,037 of o 0 0 of 4037 0 0 o|
[R1.7.25 18 [wimemkEes (sIEEED (7 A%) 4,100| 100] 4,100 0 0 0 0 o| 4100 0 0 _o|




(Hiftprat4)

= 5 & %W -
[BBEREE]
(SHTEIRS) (A% H—H]
(B : [)
J— EHE AR (ELOAIR
#AE |2BE REEHAHE - i wAm | xmm BEERR
B3 * AR - ERRAFE
(%) mEmEe | wan s | manew |FAREEE) puppe | wsuan | smEr | ssn At
R1.7.29] 19 [#mapssy (BEREFHR) (7AH 4,900( 100 4,900 0 V) 0 0 0 4,900 0 0 0
R1.7.30| 20 |me¥sEan@Biia AGE 39,600F 501 19,800 0 0 0 0 0 0 ¢ 0 19.'800
RI.T. _30 21 |BIEEEMBIRE A 150,000] 50 75,000 0 0 0 0 0 0 0 of 75, 000
JR1.7.31] 22 {HEHEESE(6AN 8,525 25 2.131 ] 0 0 0 0 0 0 2,131 OI
RI.7.31| 23 |##Him TR (6/26~7/24) 15,558 50 7. 779 0 0 0 0 0 0 7,779 0] 0!
7R 237.855] 593,964 335,967 3,222] 30,000 0| 62,937] 103,353 41,655 94,800
R 237, 855]1,048,040 573.822) 3,222| 35,000| 0| 79,5741 206, 663] 6b, 483| 183, 830




(Rt 4)

E
[BEdREHE]
(FMTEBAS) [(ma #H-—8]
. (HGr . /)
ARE | R BEANE (ELOAIR)
288 |%u= ARENE - AB | xmm el :
o 5% mrmam | wer | smr | ceces [(FRREFE| gunow | gmman | semr | ossx | aem
‘ RL8.6[ 1 [m&a®mhHs—#(6/1~6/30) 8, 1411 50] 4,370 0 0 0 0 0 0 0f 4.370 0
R1.8.6| 2 [ferity MSSURRE®2 YT 4y—ExH) 2.700{ 50| 1,350 0 0 0 0 0 0 0| 1,350 0
Ri.g.6| 3 [&F7¥—TLERRERERNTE g.640| 100| 8 640 0 0 0 0 o| 8640 0 0 q
R1.8.6| 4 |RERESH &% -H1EHE 162,000 95] 153,900 0 0] 153, 900 0 0 0 0 0 0|
R1.8. 6‘ 5 |REUREGHE EDRIFE (10, 00058) 126,360 95] 120,042 0 0] 120,042 0 0 0 0 0 0|
RI.B.G| 6 [REGREE HER 10,789| 95f 10,249 0 0] 10,249 0 0 0 0 0 OI
RIL8.T| 7 |REER&E HEEOD (790:8) 60,8401 95] 57,798 0 O 57,798 0 0 0 0 0 0
R1.8.8| 8 |REHEH HERO(14:E) 1,148] o5 1,090 0 0| 1,09 0 0 0 0 0 )|
R1.8.10| 9 |2BuEpdE ERGS (92:8) 7,544} 951 7,166 0 0] 7,166 0 0 0 0 0 0
R1.8.13| 10 [Aw )it 6,248 251 1,562 1,562 0 0]. 0 0 0 0 0 0
JR1-8.19] 11 |wpAmAEEM (BREFHE) (8 A 3,700 100] 3.700 0 0 0 0 0] 3,700 0 0 0
IR1 .8.201 - |&REXYUASZE VRS 335, 967 0 0 0 0 0 0 0 0 0 0
IRI.B 2?/- 12 |FEBEFRFLATV=ZLTN1~T7/31) 42,519| 50] 21,259 0 0 0 0 0 0| 21,259 0 0
IRI. 8.23| 13 |:mEr GtafL) (9 A% 150,000 50] 75,000 0 0 4 0 0 o[ 75,000 0 0
IRI. 8.26/ 14 |wtaigsnd (E8FM) (8AM) 4,037) 100] 4,037 0 0 0 0 0] 4,037 0 0 OI
' NITaZa=4r—33 XA 22—y Mg
|RI. B.26| 15 ¥, t#:.'}-?'frj*f—JEXﬁ)J 7 5,0b4) 50| 2,527 0 0 0 0 0 0 0] 2,527 0|
RWHEES Y —AH, BizBox—X ¢
[fi.a.5) 16 [EBTEERY 8, bz 36,117| 50| 18,358 0 0 0 0 0 0 0| 18,38 of
R1.8.26| 17 [msHeSRES2% (R1.9~R2.2) 98,700 100§ 98,700] 98,700 0 0 0 0 0 0 0 0
R1.8.27) 18 |HHERHDMA AR 21,120 50|‘ 10, 560 0 0 0 0 0 0 0 0] 10,560




(RfH4)

£ § B
[BERRE#]
(THITLESRS) [E8 H—88]
(B4r - )
- P EHRE FLOWID)
%70 |®mm REENGHE - (58 wAl | X BEEHR :
Ty x4\ wminss|
(9%) mEmwn | wen | amr | ceces |FOEER eunow | gaaax | ssmr [ osmr | aen
[ri.e.21) 10 [T]77 4722 (FEmW R 07 15, 701f 50| 7,895 0 0 0 0 0 0 0 0| 7.895 oi
|R1. 8.28] 20 |HmAEEY (uEE) (s A 3,042 100 3,042 0 0 0 0 ¢ 0 3,042 0 0 al
IRL 8. 2§ 21 |EBHR BEYE(7/25~8/26) — 18,497 50 g, 248 0 0 0 0 0 0 0 9, 248 0 OI
IRT. 8.30| 22 (MEEUEMERE AER 150, 000]. 508 75, 000 0 0 0 0 0 0 ¢ 0 0| 75,000
IR1. 8. 3(1 23 |REEE EXEO2148) 16,208] 95] 15,397 0 0 o[ 15,397 0 . 0 0 0 0 ol
8AN 335, 967| 960, 395 710, 880§ 100, 262 0 0| 365,642 0| 19,419| 105,507 34.500] 85,560
Rt 573, 822 |2,008, 435 1,284, 712] 103,484} 35,000 0| 365, 642 0 98,993] 312,170 99,983] 269, 440




(FiTHkzt 4)

& Bt &k &
CEEELY
(SHTEIAS) (8% -]
(Bifsr : FI)
— EHE AR (FEHONIR)
£R8 |%Rm RESEAE - oAl | EmEm BREmR :

ok %) magnn | awn | sme | cecer (FUREFE) panon | kaman | seen | osEr | amm

RI.O.2[ 1 |w#®Ese(7A%) 8,623 25| 2,155 0 of o 0 0 0 0 0| 2155 0
RILO.3| 2 |Avuosk 6.549] 25| 1,637 1,637 0 0 0 0 0 0 0 0 0
RI.9.6| 3 |mamnyss—8a/1~7/31) 8.886{ 50| 4,443 0 0 0 0 0 0 0 o| 4.443 0
REL9.6] 4 [forlly MSSURER2UTAU—EXR) 2,700{ 50| 1,350 0 0 0 0 0 0 0 0| 1,350 0
RI.O.18[ 5 {Hyuvi 6.972| 25| 1.743] 1.743 0 0 0 0 0 0 0 0 q
RI.O.18| 6 |[®ATLATU—RiE/1~8/3D) 42,519 50| 21,259 0 0 0 0 0 0 o| 21,259 0| ol
RI.O.18| 7 [®sm cerd) (10A® 150,000 50| 75,000 0 0 0 0 0 0 0| 75,000 0 q
RI.O.24| B |BEEBMBMA AMX 23,760 50| 11,880 0 0 0 0 0 0 of 0 o| 11,880
RI.9.25| O |smmiEs (ERFM) (A 4,037| 100| 4,037 0 0 0 0 0 0| 4,037 0 0 q
RI.9.25| 10 |#iBMEEe (HEHH (9 A% 4.100( 100] 4,100 0 0 0 0 0 of 4100 0 0 ol

EBEHEERY —AH, BizBoxU—2R
R1LO.25| 11 | L 28 (A% 36,717 50f 18,358 0 0 0 0 0 0 0 0| 18,358 ol
NMTazazsr—23 XA 82—y b

R1.9.26| 12 [MT352=7—saxXs—ry 5.054| 50| 2,527 0 0 0 0 0 0 0 0| 2,527 ol
Ri.9.26) 13 [\i77 17> CERR R G/ 10,264 50| 5,132 0 0 0 0 0 0 0 of 5132 ol
R1.9.26] 14 [®B5A s (8/27~9/25) 15,508 50| 7,754 0 0 0 0 0 0 o| 7,754 0 qf
RI.O.30| 15 |Emsmmmpma ApR 150,000| 50| 75,000 0 0 0 0 0 0 0 0 of 75,000
R1.0.30| 16 |#FEAREEGM (AARFGM) (9 A%H) 4,900{ 100] 4900 0 0 0 0 0 o| 4900 0 0 0
R1.9.30| 17 |marmeamns s Am 8.500{ 25| 2,125 0 0 0 0 0 0 0 o| 2125 oi
R.9.30| - |2R&YAE 8A% 710,890 of 0 0 0 0 0 0 0 0 0 q
T 710, 890] 489, 089 243,400 3,380 0 0 0 0 of 13.037] 104,013] 35,090 86,880
w1 1,280, 712|2,497,524| 1,528, 12| 106.864] 35,000 o| 365, 642 0 of 112,030] 416,183 136,073} 356,320




(FiHRst4)

= 5 B & .,
' [amRER]
(SRTEI0HS) (58 #—i5)
(Bfz : )
fRIRE RHE EEHE (FYDAR)
wAE | #mE REMEAE - 2 IR AKE E ;ﬁgﬁg :
#®s (5%) BEFER | FHER smn | mamsn |FRROEE gunnw | wewax | smme | s AR
Rit0.6| 1[50y 6,554 25| 1.638] 1.638 0 0 0 0 0 0 0 0
IRI.IO.T 2 |mamhy s s—16/1~8/31) 3.876) 50| 1,097 0 0 0 0 0 0 o| 1,937 0
{ri.10.7] 3 Soaurity BISS(RHe+.2 U T4 ¥ —HAR) 2,700 5o| 1,350 0 0 0 0 0 0 0| 1.350 0
RIL10.16| 4 |RESv—F 0 BEETA~9A) 8, 400 100! 8, 400 0 0 0 0 o] s 400 0 0 0
RILIOI7 5 |SH/ GBK) (1185 150,000 50| 75,000 0 0 0 0 0 o] 75,000 0 0
RIL10.21F ~ {&R&YAS 9B%H 243, 400 0 0 0 0 0 0 0 0 0 0
RI.L10.23| 6 |®EEHTL/ATY—REEO/1~0/30) 41.148| 50| 20,574 0 0 0 0 0 o| 20,574 0 0
WO HRES AW S
Ri.10.23) 7 [BBHEESENS 8,560 2] 81.475 0 o| 81.475 0 0 0 0 0 0
RILI0.23| 8 |2010mBmaaEmse HEs 18,700 92| 17.204 0 o| 17,204 0 0 0 0 0 q
RL10.25| O |R9mss (ZEHM (1085 4,037 100] 4,037 0 0 0 0 ol 4,037 0 0 ol
EFABEIEM))—2H, BizBox) —2X .
Ri-10.25| 10 [EEFEIRRY -8, Bk 36,717| 5ol 18,358 0 0 0 0 0 0 o| 18 358 ol
NITa2a=F—ia X {4 wi—ty MEd
R1.10.270 11 [ ,E;J,H, 41?_’37\“;’ 4 5,054 50| 2 527 0 0 0 0 0 0 0| 2,527 OI
R0z 1z T274F>2 (5 BER) O/ 10,005 50| 5,002 0 0 0 0 0 0 o 5,002 of
RI.10.27| 13 |H#MW BEi%(9/26~10/24) 13.180] 50| 6.594 0 0 0 0 0 0| 6 504 0 0
RIL10.27| 14 |#Fvy vk 7,010 25| 1,754] 1.754 0 0 0 0 0 0 0 o
RI.10.29| 15 |SiRABEZES (AZEHE) (10 B4 4,100 1ooi 4, 100} 0 0 0 0 ol 4,100 0 0 0
R1.10.20| 16 g?‘ﬁﬁ“ (BERAHED (10A 4.900| 100 4,900 0 0 0 0 0] 4,900 0 0 0
RI.10.20| 17 |HSZEEMMmE AR 30,488 50| 15 244 0 0 0 0 0 0 0 o| 15,244
RI.10.30| 18 [2019MBMESERAS MERD 53.5860 92| 49,200 0 o| 49,209 0 0 0 0 0 0




(Fitik=L 4)

< 5 B & -
[BBREHR]
(SHFTLEI0A ) ) [E& iH—m8]
(Bfr: [
R ' E J BRRE (FEANKIR)
£A8 |%&m RUENGHE - @R mAM | e b :
#e (%) mEwnR | THR amr | cazer [FPEAEE guiow | guman | seer | osEx AR
R1.10.31) 19 2010 SRS BEAE HiEHO 113, 274] 92] 104, 212 0 ¢ 0| 104, 212 0 0 0 0 0 0
RL10.31| 20 |2019B#FHHABTLEZHFH BEED 5201 82 478 ¢ 0 0 478 0 0 0 0 0 OI
RL10.31| 21 |E&MEiadE (9 As) 8,490 25 2,122 0 oF 0 0 0 0 . 0 0 2.122 0|
R1.10.31| 22 |BFSisaEBnmee A 150,000] 50§ 75, 000' 0 0 0 0 0 ] V] 0 0| 75, 000'
' o| 0 0 0 0 0 0 0 0 0 0
10R%+ . 243, 400| 761,316 501, 2056 3, 392 0 0| 252, 668 0 21,437| 102,168} 31,296 90,244
#h - - [1,528,112|3, 258, 840 2,029,317} 110, 2567 35, 000 0| 618,310 0| 133, 467| 518, 351 167, 369] 446, 564




(F{tHRt 4)

= B Ok &
(ERREEE]
(RHTEAH) (58—
(B{sr - )
i v (R E (FEHORR)
#AE |%mE Rekpatns: - 5 WAl | zum BEEut
&= (%) mEdER | wer amn | manew |FARRERD ey | euwan | seEr | owan AR

RILIT.6] 1 [Ea&igh s 2—89/1~9/30) 4,494| 50| 2,247 0 0 0 0 0 0 0 o| 2 247 of
RL11.6[ 2 [foyrity Ssstiua V70— 228 2,700 50| 1,350 0 0 0 0 0 0 0 of 1,350 0
RLILT| 3 [Bemdicis> SER(TE, REER) 34.372| 100] 34.372] 34,372 0 0 0 0 0 0 0 0 0
RIL1L20| 4 |®#EE Gee) (1284 150,000| 50| 75,000 0 0 0 0 0 0 ol 75,000 0 0
RLIL20| 5 |EBHEILATU—ZR0/1~10/31) 43,307] 50| 21,653 0 0 0 0 0 0 o| 21,653 0 0
RI.11.20] 6 |fBEEBS4 (H30. 118 ~R1.108) 6,490| 100] 6,490 0 0 0 0 0 o| 6 490 0 0 0
RL1L21| 7 |Fvuok 6.436] 251 1.609] 1,609 0 0 0 0 0 0 0 0 0
RL1L21| - |&REYAS 1084 501, 205 of 0 0 0 0 0 0 0 0 0 oi

EHFEES ) —2H, BizBoxy—2 _
R1.11.26| 8 A — 28 (118%55) 36,717 501 18,358 0 0 0 0 0 0 0 0] 18,358 0|
RL1L25| O |mEEsss GEEHM (1189 4,037| 100] 4 037 0 0 0 0 0 o| 4,037 0 0 ol
RIL1L25| 10 |grBAEgEsd (HBHRD (1185 4,100 100] 4,100 0 0 0 0 0 o| 4 100 0 0 o
RILIL26| 11 [EESWBBE AR 28,800| . 50| 14,400 0 0 0 0 0 0 0 0 ol 14,400

NTa S a=s—damZ(d ue—%y biEk .
Ri.1L27| 12 (TSRS R ast Y 5148 50| 2.574 0 0 0 0 0 0 0 o 2,574 0|

NITZ 7212 (BHEET EBER)
RLTL2I| 13 (Yo7t 207t 10,241 50| 5,120 0 0 0 0 0 0 0 of 5.120 0
RLIL2I| 14 |®BH Bl (10/25~11/25) 13.081| 501 6,540 0 0 0 0 0 0 0| 6,540 0 0
RI.11.28] 15 ﬁgﬂﬁﬁ*’f (BFEHFHH (1717 4,900] 100] 4,900 0 0 0 0 o| 0| 4,900 0 0 0
RIL1.29| 16 |BisEdimeniE Al 150,000 50} 75,000 0 0 0 0 0 0 0 0 o| 75,000
1A% 501, 205| 504, 823 277,780] 35,981 0 0 0 ol 19,527} 103.193| 29 649| 89, 400
Rt 2,029,317 |3, 763, 663 2,307,067] 146,237| 35,000 o| 618,310 o| 152,994| 621, 544 197,018 535, 964




- (AT 4)

£ §f & @
(HHEES]
(SREEIZAS) (8 H—HE)
(84 : [)
. o] RAE (FEEOKL
FAR |wER REWANE - 058 AR | xwm HhuR -
5 (%) wEmER | weR sur | zecen *’;g*ﬁ ®efmn | wuman | wwmw | mmn AR
RIL12.2| 1 |msmEne(1 0B 8,827 25| 2 206 0 0 0 0 0 o| 2 206 of
RL12.6] 2 [#vusse 6,084 25f 1,521] 1,521 0 0 0 0 0 0 ol
RIL1Z.6| 3 |@amhsrs—810/1~10/31) 8,364| 50} 4 182 0 0 0 0 0 o] 4182 o
RI12.6 4 [Security BOSSURR e U o o= EXR) 2,750 50| 1,375 0 0 0 0 0 of 1375 0
RL12Z10| - |[@REUAS (1184 277, 750 0 0 0 0 0 0 0 0 0
Rz 5 |[Hvuss 3,573 250 83 893 0 0 0 0 0 0 0
AA—ERMAR AR AR F50
RLIZ 16| 6 |Rrces ot mare] 50, 650] 100] 50, 650] 50,650 0 0 0 0 0 0 0
Rz 18| 7 lmEE oer) (B 150, 000| 50 75,ooui 0 0 g 0 0| 75, 000 0 0
RHFAICHHBAR 285
SREART [N T oA s ui L W 203,720 50| 101, 860 0 0 0 0 0 ol 101, 860 ol
EHHICY 7 FEAR 284 :
Rz tg g [ e ) 39,636 500 19,818 ‘o 0 0 0 0 of 19,818 u|‘
R 12.19| 10 |BEHTLATU -2 11/1~11730 41,9100 50] 20, 955 0 0 0 0 o| 20055 0 ol
WHEAR (BHEBELR : 7154-) : |
Rtz 20 11 [fERAR I 33, 000 mﬂi 33, 000 0 of 0 o| 33,000 0 0 0
v 12.20) 12 |G e 5,148 50| 2,574 0 D 0 0 0 0| 2574 0
NTZ7 1 F >R (BBm BER)
R 1220 13 HFap A o.640| 50| 4 820 0 0 0 0 0 o] 4820 0
Rz 24| 14 [HEEEBEEEE Atk 18, 900{ 50| 9 450 0 0 0 0 0 0 0| 9 450
EHPREMY —28, BizBoxU—X
R 12.25) 15 | A (2 h A 36, 717] 50| 18, 358 0 0 0 0 0 o| 18 358 0
RL12.25| 16 |[#iMESZEN (EEHM) (1 284) 4.037| 100 4 037 0 0 0 ol 4037 0 0 0
RI.12.25| 17 |HiMmSEmE GEEEM) (1289 4,100 100! © 4,100 0 - 0 0 o| 4100 0 0 0
Ri.12.26 18 [Hvusft 6.586| 25| 1,646] 1,646 0 0 0 0 0 0 0




(FftHest 4)

& B K W
[AHEE%]
{(SHTEIZARD) (A8 it—Af]
(847 : M)
pu— raE| BETHE (EHOAR)
#An |sua ABEAE - g8 RAM | EmE RUEHR -
&5 %) REFRR | WER uw | mwswe |FORERA) gpew | xumar | werr | wsn Al
RLL12.271 19 |EHEEhaBEEE AR 150, 000 50| 75, 000 ] 0 ] 0 ] 0 0 0 0y 75, 000
Rotzo7| 20 [ROMMRES (BAERMD (127 4, 900] 100] 4 900 0 0 0 0 0 a| 4 900 0 0 0
Ri.12.29| 21 |ZEBPT EEae (11/26~12/23) 15,8801 50 7. 940 0 0 0 0 0 ] | ' 940 ] ¢
12AK 277, 750} 804, 422 444, 285] 54, 710 0 0 0 0 0] 46,037| 103, 895| 155, 193] 84, 450
R 2. 307, 0674, 568, 085 2,751, 352] 200, 947 35, 000 0| 618, 310 0 0{ 199, 0311 725, 439] 352, 211} 620, 414




(RiTHRt 4)

= H K %
[BhEER]
(SH2E1HA ) (58 H—]
(Bfr - A1)
AR o= EARE (ELORID)
£A8 |wmm RUBHNE - @i Az | xmE BEER
lalcd (%) HERER | EHR sur | marae (FOREEE) gupum | momar | sEEr | ser ABR
R2.1.6| 1 |#$EFEHE(1 18D 8, 705| 25 2,116 0 0 0 0 0 0 0 2,176 0}
R2.1.6, 2 |[EaighY 2 —H11/1~11/30) - 3,751 50 1,875 0 0 0 0 0 0 0 1,875 OI
Security BOSS(E#Ht )T 14—

R2. 1.§ 3 Z34) (11/1~11730) o 2,750] 50 1,375 0 0 0 0 0 0 0 1,375 0'
R2.1. 1; 4 |AHVY e 6,795 25 1,698 1, 698 0 0 0 0 0 0 0 0
R2.1. 16', 5 |EESy—FIL ﬁﬁﬂ(wﬁ”ﬂﬁl 8,400| 100 8, 400 0 ] 0 0 0 8, 400 0 0 0
R2.1.20 - £k AE (12B5) 444, 285 ¢ 0 0 0 0 0 0 0 0 0
R2.1. 23; 6 |H|IEFT (L) (2 A% 150,000 50| 75,000 0 0 0 0 0 0f 75,000 0 0
R2.1.23| 7 |FE&ERILATU—RKRAL/1~12/31) 43,307 5Ol 21,653 0 0 0 0 0 0] 21,653 0 0
R2.1. 23/ 8 |BEHEBGFES 2B R2.1~R2.6)_ 30, 000§ 1001 30,000 0] 30,000 0 0 0 0 4] 0 0

EHBmESE®) —R ¥, BizBoxy—2 '
R2.1.27| 9 . Somy—28 (183 36,717] 50| 18,358 0 0 0 0 0 0 0 18,358 0
R2.1.27 10 [riamssy (EEHE) (184 _ 4,037| 100 4. 037 0 0 0 0 0 4,037 0 0 UL
R2. 1. 28/ 1N |BHEFEHBERE A 24,750 501 12,375 0 0 0 0 0 0 0 0] 12,37
IRZ. 1.28] 12 | (BREFHR) (1A9) 3,550| 100 3, 550 0 0 0 0 0 3, 550 0 0 Oi
|R2. 1. 2?_ 13 |#rEEEEE (BsniwR) (1 BS). 2,910] 100 2,910 0 0 ¢ 0 0 2,910 0 0 OI
NTasa=F5—SavX(1vd—a3wy
|R2. 1.31] 14 MEREE . a5 4 F—E 24 5,148 50 2,574 ¢ 0 0 0 0 ‘ 0 0 2,574 0
NITo 74+ R (BER BRI
IRZ. 1. 3l 15 (12/1~12/313 A 9,739 50' 4 869 0 0 0 0 0 0 0 4, 869 0
|R2. 1,311 16 |&EHH BREREE2/24~1/27) 17, 361 50! 8, 680 0 0 0 0 0 0 8, 680 0 0
IRZ. 1. 31, 17 |EBEEHHEMIBE AG#E 150,000 501 75,000 0 0 0 0 0 0 0 0| 75,000
IRZ. 1.31 18 |#EERME (1 2 A% 8,748 25 2,187 0 0 0 0 0 0 0 2,187 0




(FfTHz 4)

s H OB M
[BEREERE]
(SF2E1 H) [ER #—1)
(Bifr: D)
i ReE BRRE (e ORED
£8E |zEm EMENE - Bl WAK | R BEIMR
il (%) BEFER | FER me | newe [EPRAEE) pneow | wemar | sEER | sER AMESE
0] 0 0 ¢ 0 0 0 0 0 0 0
1B 444, 285} 516, 668 276, 17 1.698| 30,000 4] 0 0f 18,897| 105,333 33.414| 87,37
= 2,751, 3525, 084, 753 3,028, 069] 202,645 65, 000 0] 618, 310 0| 217,9281 830, 772| 385, 625| 707, 789




(st 4)

= i B W

[BHEREEX%]

(SHI2E2H 43) [H5E H—H]

(H{r: A

S *HE EHRE (LD
#AR |Emm REEKITRE - ik mAm | xmem gﬁgﬁg

&5 (%) mEwER | e snr | macer |FORAFE) puenw | geman | womm | wun AR
R2.2.2 1 [|HvU &k 7,033] 25 1,758 1,758 0 0 0 0 0 0 0 0 0
R2.2.6| 2 ‘fHestrywa—012/1~12/31) 6,039 50 3,019 0 0 0 0 ¢ 0 0 ¢ 3,019 0

; Security BOSS({E¥it ¥V FrHo—F
R2.2.6] 3 Z4) (12/1~12/31) 2,756 50 1,375 0 0 0 0 0 0 0 ¢ 1,375 0
R2.2.19f 4 [®|BF () (38 150, 000] 50] 75,000 0 0 0 0 0 0 0| 75,000 0 Oi
R2.2.191 5 *ﬁﬁ?j’lx;\ﬂ'J—ZﬁG/Iﬁfl/:il) 43,307] 50| 21,653 0 0 _D_ 0 0 0 0] 21,653 0 0|
|R2. 219 6 |FsMEREASSE (R2. 3~R2.8) 99,000| 100] 99, oooi 99, 000 0 0 0 0 0 0 0 0 0|
|R2. 2.20]. - [&EREYAE (185 276, M7 OI 0 0 0 0 0 0 v} 0 0 El
IRZ. 2,24 1 AU 6,262 25 1, 565 1, b6h 0 0 0 0 0 0 0 0 ol
|R2. 2.25] 8 |HEBEERM (ESEWE) (2AM 4,037 100' 4,037 ¢ 0 -0 0 ] 0 4,037 0 0 0
|R2. 2.25] O |BOEiEEiERNEEE AM® 21,600 50| 10, 800] 0 0 0 0] 0 ¢ 0 0 0] 10,800
|R2. 2.25| 10 |kl (GEsE@mA) (2 A4 4,100 100| 4 100 0 0 0 0 0 0] 4,100 0 0 ¢
NTazaz=4h— X {4 wi—3wy

IRZ. 2,25 11 MEMS . Ao )) 54 B RH) 5,148 50' 2,574 0 0 0 0 0 0 0 0 2,574 0
|R2. 2.95| 12 |77 AF~2 CFER B (/1 10,078| 50| 5,038 0 0 0 0 0 0 0 o| 5.03 0
IRZ. 2.27] 13 |#wmEsy (BxEHEFEHE) (2A49 4,900 1()0I 4,900 0 0 0 0 0 0 4, 800 0 0 0
IRZ. 2.28] 14 |BISERERME ANH#E 150,000] 50] 75,000 0 0 0 0 0 0 0 0 0| 75,000
IR2.'2. 29 15 |=#®mR EEBE (1/28~2/25) 15, 788] 5O 7,894 0 0 0 (] 0 0 0 7. 894 0 0
28 %t 276, T17] 530, 042 317, 714 102, 323 1) 0 0 0 0| 13,037| 104,547 12,007 85, 800]
L4 1 3,028,069]5, 614, 795 3, 345, 783] 304, 968| 65, 000 0| 618, 310 0 0f 230, 965 935, 318| 397, 632| 793,589




(HfFE=t4)

2« & & W%
[BRERXRE]
SHZEIRD [Ak H—)
A . (HfE - FD
EHE ERWE (REOHR)
%An |ons RERENE - wAR | xmE BHZnR
e (%) wEFER | wHR zin | maner |FPURES) gupnn [ kumar | e | snn AR
IR2.2.25] 1 |:HEAEERY—-RH C2AM) 7,665 50 3,832 0 ] ¢ 0 0 0 3,832 0
R2.3.2} 2 [#H@EME(1AM 8.67TH 25 2. 169 0 0 0 0 0 0 2. 169 0
R2.3.61 3 {#EahoL2—H1/1~1/31) 4,516 50 2,258 0 0 0 0 0 0 2,258 0
Security BOSS{IEHtH a2 FsH9—F )
R2.3.6| 4 [Seeuvity BUSSURD 2,750 50| 1,375 0 0 0 0 0 0| 1.375 0
|R2. 3.18] 5 (E|IEET OBfL) (4 A9 150, 000] 50] 75,000 0 0 0 0 0] 75,000 0 0
|R2. 3‘. 181 6 |E|EHFFLATI—R(2/1~2/29) 40,5131 50] 20, 256 0 0 0 0 0] 20,256 0 0
|R2. 3.18 T |Hvyoik 6,533 25 1,633 1.633 0 0 0 0 0 0 0
R2.3.19] - |&REYAE 2BH) 317, 7114 0 0 0 0 0 0 0 0 0
|R2. 3.250 8 lnpaEskd (EEFR) (3R4) 4,0371 1001 4,037 0 0 0 0 4,037 0 0 0
IRZ. 3.251 9 (HEAEESRE (GREEED (3 A4 4,100 100 4,100 0 0 4] 0 4,100 0 0 0
EEFBRER—AH (3F49) . UK -
IR2.3.25f 10 |[V—RAH(Z 34 . AW —2H 65,525{ 50y 32,762 0 0 0 0 0 0] 32,762 0
(2, 305) .
IRZ. 3.271 11 |sApnEER (BAEEEHHE) (3R9) 4,3001 100 4,900 0 0 ¢ 0 4,900 0 0 0
NTazazyr—dawX{foe—Fhy
|R2. 3.28] 12 MERE . 3ol T4 H—EZH) 5,148] 50 2,574 0 (] 0 0 4] 0 2,574 0
|R2. 3.08| 13 [M72 T2 BBR Wik @)1 9,732| 50| 4,866 0 0 0 0 0 o| 4866 0
R2.3.28| 14 | ERME(2/26~3/25) 13,957 50 6, 878 0 ‘ 0 0 0 0 6,978 0 0
IR2. 3.31| 15 |BISEBHEBEES Atk 36,0001 501 18,000 0 0 0 0 0 t] 0] 18. 000
R2.3.31| 16 |BfEE®HmRIEEE A4E 150,000] 50] 75, 000 0 0 0[. 0 0 0 0| 75, 000
|R2. 3.31 17 [EBEEHEQ2AM 8,605 25 2,151 0 0 0 ¢ 0 0 2,151 0
|R2. 4,201 - |SREYVAE QA 261, 891 0 0 0 0 V] 0 0 0 0




(RfHHEl 4)

& & & &
[(BHERER]
(FH2E3IAR) (% H—atl
(87 : M)
ARE 2] - EARE EAOMIY
wAR |®a AFHENE - it BAS | EEE gl : SRR
#5 (%) memnn | wex | smr | mecex |FPRREE| papaw | mewar | semr | osme | aen
3Rk 579, 605 522, 658 261, 891 1,633 0 0 0 0 0 13.037f 102,234| 51,987 93, 000|
Rit 3.607.674|6, 137, 453 3.607.674] 306, 6011 65, 000 0| 618,310 0 0| 244,002]1, 037,553 449, 619| 886, 589]

’



